## Sanitary Sewer Improvement No. 78 Proposed Additional Assessment Roll

October 8, 2018

Resolution No.

00.00001 0, 2010			Sanitary Sewer Improvement No. 78								
Property Owner	Legal Description	County Tax Parcel id	Trunk Assessable Area in Acres	e Trunk <sup>(1)</sup> n Assessable		Trunk Assessment	Lateral Assessable Length in Feet	e Lateral (1)		Lateral Assessment	Total Sanitary Sewer Assessment
	Six Fairway View Subdivision	_									
DK Buildings LLC	Lot 1, Block 1	31-3406-240	0.0	@	\$1,472.28	\$0.00	0.0	@	\$32.78	\$0.00	\$0.00
DK Buildings LLC	Lot 2, Block 1	31-3406-245	0.0	@	\$1,472.28	\$0.00	0.0	@	\$32.78	\$0.00	\$0.00
DK Buildings LLC	Lot 3, Block 1	31-3406-250	0.0	@	\$1,472.28	\$0.00	0.0	@	\$32.78	\$0.00	\$0.00
DK Buildings LLC	Lot 4, Block 1	31-3406-255	0.0	@	\$1,472.28	\$0.00	0.0	@	\$32.78	\$0.00	\$0.00
DK Buildings LLC	Lot 5, Block 1	31-3406-260	0.0	@	\$1,472.28	\$0.00	0.0	@	\$32.78	\$0.00	\$0.00
DK Buildings LLC	Lot 6, Block 1	31-3406-265	0.0	@	\$1,472.28	\$0.00	0.0	@	\$32.78	\$0.00	\$0.00
DK Buildings LLC	Lot 7, Block 1	31-3406-270	0.0	@	\$1,472.28	\$0.00	0.0	@	\$32.78	\$0.00	\$0.00
Quinn R and Alaina M. Kolpin	Lot 8, Block 1	31-3406-275	0.0	@	\$1,472.28	\$0.00	0.0	@	\$32.78	\$0.00	\$0.00
DK Buildings LLC	Lot 9, Block 1	31-3406-280	0.300	@	\$1,472.28	\$441.68	108.6	@	\$32.78	\$3,559.91	\$4,001.59
Allen G. and Kimberly K. Drost	Lot 10, Block 1	31-3406-285	0.543	@	\$1,472.28	\$799.45	197.0	@	\$32.78	\$6,457.66	\$7,257.11
	т	otal Assessment	0.843			\$1,241.13	305.6		-	\$10,017.57	\$11,258.70

<sup>(1)</sup> Trunk and lateral assessment rates are as calculated for the original improvement.

## Sanitary Sewer Improvement No. 84 Proposed Additional Assessment Roll

October 8, 2018

Resolution No.

00.0000.000.000			Sanitary Sewer Improvement No. 84								
Property Owner	Legal Description	County Tax Parcel id	Trunk Assessable Trunk (1) Area in Assessable Acres Rate Per Acre		Trunk Assessment	Lateral Assessable Length in Feet	Assessable Lateral (1)		Lateral Assessment	Total Sanitary Sewer Assessment	
	Six Fairway View Subdivision	<u>1</u>									
DK Buildings LLC	Lot 1, Block 1	31-3406-240	0.035	@	\$1,695.95	\$59.36	56.1	@	\$20.37	\$1,142.76	\$1,202.12
DK Buildings LLC	Lot 2, Block 1	31-3406-245	0.160	@	\$1,695.95	\$271.35	116.5	@	\$20.37	\$2,373.10	\$2,644.45
DK Buildings LLC	Lot 3, Block 1	31-3406-250	0.202	@	\$1,695.95	\$342.58	93.6	@	\$20.37	\$1,906.63	\$2,249.21
DK Buildings LLC	Lot 4, Block 1	31-3406-255	0.326	@	\$1,695.95	\$552.88	121.6	@	\$20.37	\$2,476.99	\$3,029.87
DK Buildings LLC	Lot 5, Block 1	31-3406-260	0.287	@	\$1,695.95	\$486.74	104.0	@	\$20.37	\$2,118.48	\$2,605.22
DK Buildings LLC	Lot 6, Block 1	31-3406-265	0.269	@	\$1,695.95	\$456.21	97.9	@	\$20.37	\$1,994.22	\$2,450.43
DK Buildings LLC	Lot 7, Block 1	31-3406-270	0.291	@	\$1,695.95	\$493.52	105.8	@	\$20.37	\$2,155.15	\$2,648.67
Quinn R and Alaina M. Kolpin	Lot 8, Block 1	31-3406-275	0.248	@	\$1,695.95	\$420.60	90.0	@	\$20.37	\$1,833.30	\$2,253.90
DK Buildings LLC	Lot 9, Block 1	31-3406-280	0.009	@	\$1,695.95	\$15.26	3.4	@	\$20.37	\$69.26	\$84.52
Allen G. and Kimberly K. Drost	Lot 10, Block 1	31-3406-285	0.000	@	\$1,695.95	\$0.00	0.0	@	\$20.37	\$0.00	\$0.00
		Total Assessment	1.827			\$3,098.50	788.9	•	-	\$16,069.89	\$19,168.39

<sup>(1)</sup> Trunk and lateral assessment rates are as calculated for the original improvement.

## Water Main Improvement No. 80-2 Proposed Additional Assessment Roll

October 8, 2018

Resolution No.

00.00001 0, 2010			Water Main Improvement No. 80-2								
Property Owner	Legal Description Six Fairway View Subdivision	County Tax Parcel id	Trunk Assessable Area in Acres	Assessable Trunk (1) Area in Assessable		Trunk Assessment	Lateral Assessable Length in Feet F		Lateral (1) ssessable e Per Foot	Lateral Assessment	Total Additional Assessment
DK Buildings LLC	Lot 1, Block 1	31-3406-240	0.035	@	\$855.00	\$29.93	56.1	@	\$10.99	\$616.54	\$646.47
DK Buildings LLC	Lot 2, Block 1	31-3406-245	0.160	@	\$855.00	\$136.80	116.5	@	\$10.99	\$1,280.34	\$1,417.14
DK Buildings LLC	Lot 3, Block 1	31-3406-250	0.202	@	\$855.00	\$172.71	93.6	@	\$10.99	\$1,028.66	\$1,201.37
DK Buildings LLC	Lot 4, Block 1	31-3406-255	0.326	@	\$855.00	\$278.73	121.6	@	\$10.99	\$1,336.38	\$1,615.11
DK Buildings LLC	Lot 5, Block 1	31-3406-260	0.287	@	\$855.00	\$245.39	104.0	@	\$10.99	\$1,142.96	\$1,388.35
DK Buildings LLC	Lot 6, Block 1	31-3406-265	0.269	@	\$855.00	\$230.00	97.9	@	\$10.99	\$1,075.92	\$1,305.92
DK Buildings LLC	Lot 7, Block 1	31-3406-270	0.291	@	\$855.00	\$248.80	105.8	@	\$10.99	\$1,162.74	\$1,411.54
Quinn R and Alaina M. Kolpin	Lot 8, Block 1	31-3406-275	0.248	@	\$855.00	\$212.04	90.0	@	\$10.99	\$989.10	\$1,201.14
DK Buildings LLC	Lot 9, Block 1	31-3406-280	0.309	@	\$855.00	\$264.19	112.0	@	\$10.99	\$1,230.88	\$1,495.07
Allen G. and Kimberly K. Drost	Lot 10, Block 1	31-3406-285	0.543	@	\$855.00	\$464.26	197.0	@	\$10.99	\$2,165.03	\$2,629.29
	т	otal Assessment	2.67		•	\$2,282.85	1,094.5		-	\$12,028.55	\$14,311.40

<sup>(1)</sup> Trunk and lateral assessment rates are as calculated for the original improvement.

## Sanitary Sewer Improvement No. 78 **Sanitary Sewer Improvement No. 84** Water Main Improvement No. 80-2 **Additional Assessment Summary**

October 8, 2018

Resolution No.

October 0, 2010	resolution no.		Sanitary S	ewer Improveme	nt No. 78	Sanitary	Sewer Improveme	nt No. 84	Water M	ain Improvement	No. 80-2	
Property Owner	Legal Description Six Fairway View Subdivi	County Tax Parcel id	Trunk Assessment	Lateral Assessment	Total Sanitary Sewer No. 78 Assessment	Trunk Assessment	Lateral Assessment	Total Sanitary Sewer No. 84 Assessment	Trunk Assessment	Lateral Assessment	Total Water Main No. 80-2 Assessment	COMBINED TOTAL ASSESSMENT
DK Buildings LLC	Lot 1, Block 1	31-3406-240	\$0.00	\$0.00	\$0.00	\$59.36	\$1,142.76	\$1,202.12	\$29.93	\$616.54	\$646.47	\$1,848.59
DK Buildings LLC	Lot 2, Block 1	31-3406-245	\$0.00	\$0.00	\$0.00	\$271.35	\$2,373.10	\$2,644.45	\$136.80	\$1,280.34	\$1,417.14	\$4,061.59
DK Buildings LLC	Lot 3, Block 1	31-3406-250	\$0.00	\$0.00	\$0.00	\$342.58	\$1,906.63	\$2,249.21	\$172.71	\$1,028.66	\$1,201.37	\$3,450.58
DK Buildings LLC	Lot 4, Block 1	31-3406-255	\$0.00	\$0.00	\$0.00	\$552.88	\$2,476.99	\$3,029.87	\$278.73	\$1,336.38	\$1,615.11	\$4,644.98
DK Buildings LLC	Lot 5, Block 1	31-3406-260	\$0.00	\$0.00	\$0.00	\$486.74	\$2,118.48	\$2,605.22	\$245.39	\$1,142.96	\$1,388.35	\$3,993.57
DK Buildings LLC	Lot 6, Block 1	31-3406-265	\$0.00	\$0.00	\$0.00	\$456.21	\$1,994.22	\$2,450.43	\$230.00	\$1,075.92	\$1,305.92	\$3,756.35
DK Buildings LLC	Lot 7, Block 1	31-3406-270	\$0.00	\$0.00	\$0.00	\$493.52	\$2,155.15	\$2,648.67	\$248.80	\$1,162.74	\$1,411.54	\$4,060.21
Quinn R and Alaina M. Kolpin	Lot 8, Block 1	31-3406-275	\$0.00	\$0.00	\$0.00	\$420.60	\$1,833.30	\$2,253.90	\$212.04	\$989.10	\$1,201.14	\$3,455.04
DK Buildings LLC	Lot 9, Block 1	31-3406-280	\$441.68	\$3,559.91	\$4,001.59	\$15.26	\$69.26	\$84.52	\$264.19	\$1,230.88	\$1,495.07	\$5,581.18
Allen G. and Kimberly K. Drost	Lot 10, Block 1	31-3406-285	\$799.45	\$6,457.66	\$7,257.11	\$0.00	\$0.00	\$0.00	\$464.26	\$2,165.03	\$2,629.29	\$9,886.40
		Total Assessment	\$1,241.13	\$10,017.57	\$11,258.70	\$3,098.50	\$16,069.89	\$19,168.39	\$2,282.85	\$12,028.55	\$14,311.40	\$44,738.49